[Henderson—Hasseralch Equation]

has —

/ solves\
\ (acid base problems]
(DH = pK + log A'/HA] concentrations of
v . \
variable constant variable solve for solve for
() (@) 0 A
determianue to log A-/HA

. P Is
f'jSt second third\ x / \
conjugate pair
in weak acid [must calculate] [must caIcuIate]

‘ if given pK and always provide
|
is \
[Iaw of mass actionj—_— equilibrium [excess HA [HA A- J [excess A- J A- and HA log A-/HA

/ T~
increased protons  decreased protons \4 ’ may need

/ [HA <-> H+ + A-J then then then
—a N\ T
w [pH<pK] [PH=PK] [pH>DKJ [review logarithm basicsj




